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s om N & B 2 5 % * 3 ) % = R
T s — — = -
5 ES Bl 5 ES G 5B ES H)
(= Bt 495,854 | 556,667 [1,052,521 | 130,817 | 131,353 | 262,170 79.13 80, 91 | 80. 06
@ L) 40,399 45,991 86,390 12,694 13,068 25,762 76.09 77.87 77.03
mo H W 72,411 80,018 | 152,429 23,154 21,820 44,974 75.77 78.57 77.22
B3 £ 7 26,330 28,683 55,013 7.696 7.646 15,342 77.38 78.95 78.19
# + 52 i 17,410 20,398 37,808 3,944 3,923 7,867 81.53 83.87 82.78
& e 7 47,269 49,507 96,776 13,976 11,739 25,715 77.18 80.83 79.01
% £ s 17,388 19,467 36,855 4,342 4,210 8,552 80.02 82.22 81.17
B, i1 iy 10.559 11,659 22,218 2,549 2,395 4,944 80.55 82.96 81.80
A e it} 11,203 11,987 23,190 2,885 2,882 5,767 79.52 80.62 80.08
i) &t 242,969 | 267,710 | 510,679 731,240 67,683 | 138,923 77.33 79.82 L 78.61
P % 3 WY 3.284 3,593 6,877 680 728 1,408 82.85 83.15 83.01
. % = B [x 3,964 4,266 8.230 1,078 1,071 2,149 78.62 79.93 79.29
# A wg wR o ET 1,944 2,045 3,989 482 433 915 80.13 82.53 81.34
| JE at 9,192 9,904 19,096 2,240 2,232 4,472 80.41 81.61 81.03
E[3 E2 [} 4,060 4,358 8,418 743 834 1,577 84.53 83.94 84,22
B [=] i By 2,499 2,683 5,182 387 422 809 86.59 86.41 86.50
# X % Wy 4,074 4,394 8,468 858 872 1,730 82.60 83.44 83.04
f = A By 6,587 7,008 13,595 1,414 1,385 2,799 82.33 83.50 82.93
oS e S Ly 2,540 2,779 5,319 357 395 752 87.68 87.56 87.61
& 19,760 21,222 40,982 3,759 3,908 7.667 84.02 84.45 84.24
. E7N B WY 9,443 10,458 19,901 1,863 1,949 3,812 83.52 84.29 83,92
= it g 2,968 3,460 6,428 724 627 1,351 80.39 84.66 82.63
® #H H g 2,016 2,133 4,149 441 401 842 82.05 84.18 83.13
= i i 51 By 2,951 3,196 6,147 701 652 1,353 80.81 83.06 81.96
st 17,378 19,247 36,625 3,729 3,629 7,358 82.33 84.14 83.27
SR 3] [} 2,161 2,524 4,685 397 411 808 84.48 86.00 85.29
v s 2,161 2,524 4,685 397 411 808 84.48 86.00 85.29
. g 3 AT 4,825 5.469 10,294 1,141 1,128 2,269 80.87 82,90 81.94
E'S B3 i BT 2.715 2,830 5,545 554 803 1,357 83.05 77.90 80.34
= £ i<} 4 1.427 1,529 2,956 255 305 560 84 .84 83.37 84.07
b %@ 3 ) 3,009 3,287 6,296 553 571 1.124 84.48 85.20 84,85
&t 11,976 13,115 25,091 2,503 2,807 5,310 82.71 82.37 82.53
& B N HT 1,658 1,932 3,590 393 341 734 80.84 85.00 83.02
_ — = BT 3,963 4,465 8,428 709 763 1,472 84.82 85.41 85.13
=] 115 BT 4,340 4,893 9,233 885 822 1,707 83.06 85.62 84.40
X & = 7 v 5,226 5,806 11,032 1.071 1,142 2,213 82.99 83.56 83.29
* 12 *4 3,112 3,542 6,654 480 508 988 86.64 87.46 87.07
# = = i1 2,815 3,165 5,980 651 672 1,323 81.22 82,49 81.88
i 21,114 23,803 44,917 4,189 4,248 8,437 83.44 84.86 84.19
[ =" BT 3.259 3,667 6,926 437 461 898 88.18 88.83 88.52
5] 1] i8] HT 2,726 3,056 5,782 297 342 639 90.18 89.94 90.05
1y By B & 1,001 1,180 2,181 96 111 207 91.25 91.40 91.33
25 S U= I 1,913 2.215 4.128 189 243 432 91.01 90.11 90.53
&t 8,899 10,118 19,017 1,019 1,157 2,176 89.73 89.74 89.73
T i3 1 BT 2,825 3.303 6.128 477 44Tl 921 85.55 88 .15 86.93
H &t 2,825 3.303 6.128 477 444 921 85.55 88.15 86.93
13 *4 &t 93,305 | 103,236 | 196,541 18,313 18,836 | 37.149 83.59 84.57 84.10
E X &t 336,274 | 370,946 | 707,220 89, 553 86,519 | 176,072 78. 97 81. 09 80. 07
13 EZ) H 28,042 33,193 61,235 8,169 9,227 17,396 77 .44 78.25 77.88
#55 43 i 31,204 35,712 66,916 9,795 10,731 20,526 76.11 76.89 76.53
# e % I 7,997 9,622 17,619 2,192 2,124 4,316 78.49 81.92 80.32
=1 3 i 7.900 9,117 17,017 1,771 1.825 3.596 81.69 83.32 82.55
g [ig L1l 6,669 8,044 14,713 1,572 1,799 3,371 80.92 81.72 81.36
i) &t 81,812 95,688 | 177,500 23,499 25,706 49,205 77.69 78.82 78.30
£ I3 ] 2,244 2,494 4.738 418 448 866 84.30 84.77 84.55
AR | B =3 my 2,245 2,451 4,696 325 412 737 87.35 85.61 86.43
J -~ &t 4,489 4,945 9,434 743 860 1,603 85.80 85.19 85.48
r % & 13 *r 3,106 3,480 6,586 524 578 1,102 85.56 85.76 85.67
23 % BA ] 1] 6,059 6,817 12,876 1,441 1,585 3,026 80.79 81.14 80.97
= * = BT 2,516 2,850 5,366 386 389 775 86.70 87.99 87.38
X £ 1 *F 1.761 2,054 3,815 274 290 564 86.54 87.63 87.12
pi = n *F 1,493 1,760 3,253 227 298 525 86.80 85.52 86.10
&t 14,935 16,961 31,896 2,852 3,140 5,992 83.97 84.38 84.18
ES B, [} 3,633 3,961 7,594 698 873 1,571 83.88 81.94 82.86
= B BT 2,556 2,956 5,512 572 608 1,180 81.71 82.94 82.37
i3 N 2 T 4,655 5,206 9,861 1,076 1,198 2,274 81.22 81.29 81.26
* B Wy 1,899 2,133 4,032 276 311 587 87.31 87.27 87.29
w £ WY 3,494 4,270 7.764 927 695 1,622 79.03 86.00 82.72
_ £ [&5) =3 T 3,113 3,645 6,758 758 690 1,448 80.42 84.08 82.35
— # & Wy 1,622 1,803 3,425 468 508 976 77.61 78.02 77.82
i i) ¥ 1,982 2,297 4,279 689 855 1,544 74.20 72.87 73.48
il > I ST 3 573 651 1,224 106 119 225 84.39 84.55 84.47
Bz = T 2,726 2,877 5,603 569 674 1,243 82.73 81.02 81.84
st 26,253 29,799 56,052 6,139 6,531 12,670 81.02 82.02 81.56
HE =3 HT 1,910 2,399 4,309 543 433 976 77.86 84.71 81.53
= * x WY 2,572 3,342 5,914 842 816 1,658 75.34 80.38 78.10
i = B [iag 4,522 5,562 10,084 1,277 1,332 2,609 77.98 80.68 79.45
&y s iy 5,704 6,626 12,330 1,651 1,844 3,495 77.55 78.23 77.91
Fald B &R i3 2,896 3,350 6,246 618 619 1,237 82.41 84.40 83.47
X Bl 17,604 21,279 38,883 4,931i 5,044 9,975 78.12 80.84 79.58
e B = & HT 3,743 4,470 8,213 827 881 1,708 81.90 83.54 82.78
TAREHR | = i BT 3,552 4,103 7,655 686 749 1,435 83.81 84.56 84.21
&t 7,295 8,573 15,868 1,513 1,630 3,143 82.82 84.02 83.47
& 3 HT 2,899 3,432 6,331 663 832 1,495 81.39 80.49 80.90
# = WY 2,366 2,754 5,120 493 586 1,079 82.76 82.46 82.59
A2 Eill BT 716 899 1,615 134 171 305 84.24 84.02 84.11
# #5 3 *F 1,211 1,391 2,602 297 334 631 80.31 80.64 80.48
A 7,192 8,476 15,668 1,587 1,923 3,510 81.92 81.51 81.70
Y +¥ & 77 .768 90,033 | 167,801 17,765 19,128 36,893 81.40 82.48 81.98
®w, 2 X 3 159,580 | 185,721 | 345, 301 41, 264 44,834 86, 098 79. 45 80. 55 80, 04
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